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I Semester 3 Year LL.B./III Semester 5 Year B.A. LL.B./B.B.A. LL.B.
Examination, December 2014

CONSTITUTION

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answers should be written either in English or Kannada
completely.

��������������	�
���� 1. ������		 9�	
�����
		����		��
���������		�
�����	���
����
2. ������		9 ���		20  �����������	����
�������		16 ��������
��
3. �����������	 	���
��
� ���	 	 !����"#$
�%	 � �������� 	�&�
�	 	 ������� �'(

)����*�+����

Q. No. 1. Discuss the rights of minorities to establish and manage the
educational institutions. Marks : 16

�,-		!��.�/����		��0��12��		!��!�3��4� ���		!�35!��
�		
�����
		�
����4� ���		6
�$7!��
�
8���� ���		9�:$��

 Q. No. 2.  Explain the concept of equality as enshrined under Article 14 of
 the Constitution. Marks : 16

!��;<� ���		� ��9�=+��	 14	��		�������		!�
�� �����		���>���
� ���		;
�����

Q. No. 3.  Explain the powers of the President. Marks : 16

��?�@<�/��1��		;;<�		�A������4� ���		;
�����

Q. No. 4. Explain the various kinds of emergencies contemplated under
the Constitution. Marks : 16

!��;<� ���'(		;
��!�B���		;;<�		�+C��		������$		����3C��4� ���		;
�����

Q. No. 5. Explain the procedure to amend the Indian Constitution and write
a note on doctrine of basic structure. Marks : 16

D���C+��		!��;<� �
� ���		C������E		
��F�,�		G���
�		���H�I��� ���		;
����

�����
		
���,D����		,��1#��4�		���>�����		)��J		K��-2		)��L���

P.T.O.
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Q. No. 6. Explain with relevent cases the various types of writs contemplated
under the Constitution of India. Marks : 16
D�������	 	!��;<� ���'(	 	6+F�B�%���
�	 	;;<�	 	�+C��	 	�MN��4� ���	 	!����

�������#��4���O��		6���5���

Q. No. 7. ‘Freedom of trade, commerce and intercourse throughout the
 territory of India shall be free’–Discuss. Marks : 16
P
�/����Q		
�2R/		!�S������T/		��?�@��/���		�����
�%�����
��	UV9�:$��

Q. No. 8. Write short notes on any two of the following : Marks : 2×8=16
��
���������		���������)��J		K��-2		)��L��	�

a) Doctrine of Eclipse.

���8�#		���>����

b) Fundamental Duties.


���,D����		����$
�/��4���

c) Public Interest Litigation.

!�
�$R6��		7��!�H
		��
��

Q. No. 9. Solve any two of the following problems : Marks : 2×10=20
��4�% �
����4�'(		��
���������		�������������������		���8���		6+E�
a) Haryana Panchayat Raj Act, 1994, provided that a person

having more than two children is not eligible to contest election
for the post of Sarpanch or Panch in Gram Panchayats.
However, this provision is not applicable to other institutions
of local governance or for those contesting to the State
Legislature. This was challenged by one Mr. Javed as
discriminatory and violative of Article 14 of the Constitution.

Decide. Marks : 10

8���$#	 	���9����N	 	��WN	 	��I��	 , 1994 ��	 	� ��!���	 	X��F��

������%���		8�:Y���
�		��
����+		
�/H
�����		���
��		���9����N �		���9�
��		!������9� �%		!�-A$!��
���� ���		6?�+A!�B�%���		���!����
		�� ��6 �		Z
6��
��
��	 	G����+	 	���9����N	 	!��!�3�������'	 	�&�
�	 	;<� �!�D�
!���!�/�����'		� �S��
����
��O,(�		Z		��I�����		!��;<� ���		� ��9�=+��
14		��		� �S��		������
��/		
��F��C
���
�����		X����		!�O�		��I���� ���
[�+		W�
�+�����		���[�����
�����		6#$L���
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b) Srikanth is working as the first division clerk at RTO Bangalore.
An allegation was made that he had misappropriated lots of
money in the department. After departmental inquiry he was
removed from the service. In the meantime a criminal
prosecution was intiated against him under the Prevention of
Corruption Act. In the trial Srikanth pleaded that removal from
the job is the first punishment and the criminal prosecution
amounts for double jeopardy. Decide. Marks : 10

[�+�����	 X�)
����	 *����4��� �	 \�N�K�	 ]	 ��'(	 �� �&�
��	 ��W�$
���
��!�
��%����	 ��
��^	;D�����'(	8�#��!� ���	��������I�+��	
��E��
����� ���	_4��������
���	���� ������	GB�.�	;9���̀ ���'(		G���	!���/
�����
���F��	)����	�
��� ���	!�+
�L����	
�W�	
��F�B�L�����	Z	 �F��
�	�
���

��+B�	 D� �?�a9���	 ��F�	 �� ��6 �S��	 H�;� �BN	 �� �� �� �#
� �� �
��b'!�B�L�����	�������#	 �F����C
���
���	[�+��������	�� �� ���		!�+
�L����

�W�
��E��� �	 	 �� �&�
��	 [�� 1��%��� �	 	 H�;� �BN	 �� �� �� �#
� �� �
��c'����
��������	����	_���+	��5-��	X��F��	[��1	6+F��
����8����%��
X����	
���	
��F����
���	6#$L���

c) Bhavani Rao was selected as the Prime Ministirial candidate
by PPP Party after the General Elections of 1991. Bhavani
Rao's PPP had won only 251 seats in Lok Sabha and falls
short of simple majority. PPP negotiated behind the screen
with the members of LMM Party who had the strength of 17
members in Lok Sabha promising each of LMM members
money of � 1 crore for casting vote in favour of PPP during
the process of proving majority. According PPP won confidence
vote in the Parliament. A NGO ‘Aradhana’suspecting foul play
field a case with CBI and the matter came before the Supreme
Court. PPP contended before the court privileges under Article
105. Decide. Marks : 10
1991 ��		B��+��!�D�		9�� �
�̀ ���'(		[�+�����		D�
�6		��
N		�
���
5�5�5�	 	����1
��	  251  �+d���4�	 	 �B���'(	 	���/���	 	���F�e	 	����1
�����
8����8��;�^����		[�+�����		D�
�6		��
N��
��� ���		���<� �
���C�		X����
\I��		
��F�B�L�����		5�5�5�		����1���		B��+��!�D���'(	!���4�		)8��
����
6���5!�,�		��?�a;���
�		G���8�		!����D�$��'(		XBN�X
�fN�X
�fN�		����1��	 17
!���!�/���		B��+��!�D���		\I����%���
�		Z		����1		8����		5�5�5�		 �F��
�
����
������		
���������		 �F����		)8��
������		!����D�$��'(		XBN�X
�fN�X
�fN	�
����1
��	 	 5�5�5���	 	 !�8���	 	
��E���'(	 	 XBN�X
�fN�X
�fN�	 	 	 ����1��
���CI�+
�$	 	B��+��!�D�	 	 !���!�/6���	 	 ����	 	 _����	 	 ���+K�� ���
6+F��
����%	 	 5�5�5�	 	 \��S!� �	 	 6+E���
�	 	 ���� ������	 	 5�5�5�Q
XBN�X
�fN�X
�fN�			����1��		 ���;6���		)8��
����
� ���		��������		!���$��+����
!��!�3����		P\��<� �	’		Z		;?�����'(		� ��
�� �����F��		�gh��		������
6+E���
�		Z		�������#		Z��		!�
�"+$9�=		 �/��,�����		)�O����		5�5�5	�		����1
��
!��;<� ���	 105		 �+		� ��9�=+�����		� ��^	H
��4� ���		��+4��C
���		6#$L���

________________
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I Semester 3 Year  LL.B./III Semester 5 Year B.A.  LL.B./B.B.A.  LL.B.

Examination, December 2015

CONSTITUTIONAL LAW

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.

2. Q. No. 9 carries 20 marks and the remaining questions

carry 16 marks each.

3. Answers should be written either in English or in Kannada

completely.

Q. No. 1. Discuss the values enshrined in the preamble of the constitution

of India. Is the preamble a part of the constitution ? Marks : 16

����������	�
���
�����������������������	������������� ���
��!���"�#$%&
����������	�
���
������'
������� �����(

Q. No. 2. “The State shall not deny any citizen equality before law or the

equal protection of the laws”. Discuss by referring to judicial

decisions. Marks : 16

))��*���+� ��,��+���� � � ���-. �� � ��
�/0
�� � ����
��� � 	���,
���� � �1���
��
�/
�� �2
�����	���,
���	�
����34���
��!���0����5	�6�������77&��8�9��2����
��!

��:������0;$�� ���/
< ����"�#$%&

Q. No. 3. The expression ‘Life’ and ‘Personal Liberty’ under Article 21 of

the Indian Constitution are of widest amplitude and cover infinite

volume of rights’ – Elucidate. Marks : 16

����������	�
���
������
��"�=�����21��������������)>����7��������.��)��?��-.��
	�@��
��AB�7��C
D��E������
��	���D9�����	�.��������+ ������������.����/
�:�����
��?������9����F ���
��!���'�� �/
������.��&���G�<���5%&

P.T.O.
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Q. No. 4. Discuss the importance of Directive Principles of State Policy.

Explain its relation to Fundamental Rights. Marks : 16

��*���0�H����0��$�I�
���J��������@ ��������9���@��
��!���"�#$%5&�����/���/��
9����F ���/
< ���K�������K��+ �����	�
D
����
��!������5%&

Q. No. 5. Explain the scheme of distribution of legislative  powers between

the Union and the State. Marks : 16

���
��A� � ������.� � ��*� ���� � 
�L����� � I�	�0���� ��M���� ���� ��
 �L�
���
N/�*
���
��!������5%5&

Q. No. 6. Explain the constitutional safeguards provided for a person in

the service of the Union or the States. Marks : 16

���
��A� ��1�������*� ���� �	������������������-. �2 ���	�
���
��������K�����
����34� ���
��!������5%&

Q. No. 7. Examine the scope of the ‘amending provision’ in the  constitution

with the help of decided cases. Marks : 16

	�
���
�����)H���OE�����
��"�=����7��������.��
��!���0��$5����E�A����; ���/
< �
E�5�-3%&

Q. No. 8. Write short notes on any two of the following : Marks : 8×2=16

8�����P
����,��+������/��������������QE�RS��D��:�5�T

a) Advisory  Jurisdiction.

	��9���
���,M����&

b) Money Bill and Ordinary Bill.

�H.���������������������.��	���,
������������&

c) State Emergency.

��*������������$��E�5%UH&



Q. No. 9. Solve any two of the following problems : Marks : 10×2=20

8������P
����,��+������/�������	��	����	�� ���
��!��H���,$0%�T

a) The non-gazetted employees formed the Karmachari Sangh.
This association was recognized in 1966. It consisted of all
the non-gazetted employees though they belonged to different
cadres. The rules regulating to the association were amended
in 1970. Under the Amended rules only employees of the
same rank/cadre can be members  of an association. The
Government accordingly derecognized the association. The
association challenged  the Government action of
derecognition. Decide.

 �V�W�LX���M��5���� �$��F��	��������	���$5��
���������������$"�5���	�
Y��
��!
��#%�����&��8��'��/FZ��
��!���1966 ��������,
����,L���:����&��'��/FZ����
 �V�W�LX� � ��M��5 ������������� �6����� �6����� �I�A�S������O��/� �C����/
	��5��O���&� � 1970 � ����� � �'��/FZ��F� � 	�
D
M%��� �0�,��,��2 ���
��!
H���OE������,L���P����������E�A��������������'
������� �$�������K�����
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D
��� � H���OE��
������:����&� �8��H���OE��:�
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	�
Y��
��!������,
����,���	���$����+��[���I���9�/���%���&��8��[���I���
��!
�����$"�5��'��/FZ��+��E�A\!	����.��&��H���,$0%&

b) The Government of Tamil Nadu issued  an order for listing of
backward classes. It exempted  such families therefrom
having an annual income of Rs. 30,000 or above. A member
of backward class included in the list was not given admission
in the state medical college. He challenged the Government
order. Decide.
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c) A was the bidder at an auction conducted by the divisional
forest officer in respect of certain forest contracts. He was
successful bidder and signed the bid-sheet. Prior to the
auction he signed the declaration that if the successful bidder
did not deposit in time the amount of bid, the forest contract
could be reauctioned and the deficiency on the second auction
could be recovered from him. Since A did not deposit that
amount, there was reauction and he was sued for the
deficiency on the reauction. Decide.
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First Semester of Three Year LL.B./Third Semester of Five Year
B.A.LL.B./B.B.A.LL.B. Examination, December 2013

INDIAN CONSTITUTIONAL LAW (Course – II)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer all 5 Questions.
2. One essay type and one short note question or problem

from each unit have to be attempted, which is referred as
part (a) and (b) in all the units.

3. Figures to the right indicate marks.
4. Answers should be written either in English or Kannada completely.

UNIT – I
Q. No. 1. (a) Explain “State” as provided under Art. 12 of the Constitution

with reference to decided cases. Marks : 15
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Explain the principles of equality as  laid down under Art. 14
of the Indian Constitution.
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(b) The passport authorities have refused to issue the passport
to “A”, a citizen of India, to go abroad. Can the Authorities be
 compelled to issue the passport ? Decide. Marks : 5
���2��3�42
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OR/�����

The State Government issued an order under Art. 15(4) of
the constitution reserving 68% of seats to backward and
more backward classes and 32% seats made available to
the merit pool in the Medical and Engineering Colleges. The
validity of the order was challenged by a student who had
secured more marks than those admitted under the order. Decide.
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UNIT – II

Q. No. 2. (a) Discuss the relative importance of the Fundamental
Rights and Directive Principles of State Policy with the
help of decided cases. Marks : 15
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OR/�����

Discuss briefly the constitutional Position of the President of
India.
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(b) Write a note on the Constitution and composition of Union

Parliament. Marks : 5
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OR/�����

Write a note on Parliamentary Privileges.
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UNIT – III

Q. No. 3. (a) Examine the nature and extent of the Appellate Jurisdiction
of the Supreme Court of India. Marks : 15
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OR/�����

Discuss the principles which regulate the exercise of writ
Jurisdiction by the High Courts.
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(b) Write note on Public Interest Litigation. Marks : 5
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Write note on ‘Advisory Jurisdiction of the Supreme Court’.
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UNIT – IV

Q. No. 4. (a) What do you mean by ‘Inter-State Trade and Commerce’ ?
Discuss the constitutional provisions that regulate Inter-State
Trade and Commerce in India. Marks : 15

' �	�����()
 
��)����
 
��!	�!?
 
 ��V()*
 
6��������!
 B
 
/���	���$�
 �	�����()

��)����

��!	�!?

��V()����!+

�0!�����!��

��������	�S
�
���7���������!+


�!,	�!

"�P�-.

OR/�����

Examine the limitations on the power of the parliament to
amend the Constitution under Art. 368. Refer to decided cases.
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(b) The Parliament in the exercise of its constituent power
amended the constitution and deleted the right to property from
Part – III. ‘x’ a citizen challenged the validity of the amendment
on the ground that it affected the basic structure of the
constitution. Will he succeed ? Marks : 5
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OR/�����

The Government of India levies an import duty on goods
imported by a state for Governmental use. This is challenged
by the State on the ground that the property of the State is
immune from Central Taxation. Decide.
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UNIT – V

Q. No. 5. (a) Examine the powers of the President of India to declare a
State Emergency and state its effect on Federalism and
Fundamental  Rights.     Marks :15
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OR/�����

Explain the extent of Government liability for the tortious
acts of its servants under the Constitution. Refer to decided
cases.
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(b) ‘A’ a Central Government employee was removed from the
service without conducting an enquiry. He was removed
from the service on the ground that he used some criminal
force against his superior authority. Is removal valid ? Marks : 5
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OR/�����

A Truck belonging to the Indian Army met with an accident
resulting in the death of ‘x’. x’s wife claims compensation -
by filing a suit against the Government. Can she succeed ?
Decide.
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First Semester of Three Years LL.B. /Third Semester of Five Years

B.A., LL.B./B.B.A. LL.B.  Examination, June 2013

INDIAN  CONSTITUTIONAL LAW (Course – II)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer all five Questions.

2. One essay type and one short note question or problem
from each Unit have to be attempted, which is referred to as
Part (a) and Part (b) in all the Units.

3. Figures to the right indicate marks.

4. Answers should be written either in English or Kannada
completely.

UNIT – I

Q. No. 1. (a) Examine the nature of the Indian Constitution. Marks : 15

����������	
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�����������������������������

OR/�����

Discuss the principles of equality as laid under Article 14 of
the Indian Constitution.
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%#�&����'(���

(b) Write a note on ‘Preventive Detention’. Marks : 5

)��*+%	��,�����-��%
�.���/��,��������0��12��%��3���
OR/�����

The State Govt. detained large number of persons under
Narcotic Drugs Act for a long period without trial. The ‘Undertrial
Prisoners’ questioned the validity on the ground of violation of
Article 21 of the Constitution. Decide.
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UNIT – II

Q. No. 2. (a) Explain the constitutional position of the President of India. Marks : 15

������
�����H�I��+"�����	
������J,�����-����!����������
�����
OR/�����

Critically examine the primary status of the fundamental rights

over the directive principles of State Policy.
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(b) Write a note on ‘Fundamental Duties’. Marks : 5

)����4�������,���(��5#�$��/�,��������0��12��%��3���
OR/�����

Can the courts declare any law as void on the ground that it

contravenes any of the Directive Principles ? Answer with

the help of decided cases.
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E>���R���E��@���

UNIT – III

Q. No. 3. (a) Explain the scope of original and advisory jurisdictions of

the Supreme Court of India. Marks : 15

������
�������S(���T������5"!4"�
�������4��������@����4��
��5"!6,���#�$�����5U@"�������
������

OR/�����

Examine the provisions relating to transfer of judges from

one High Court to another in the light of decided cases. State

whether such transfers affect the independence of judiciary.

E��T�����"!4"�#�$�����5"!6�K���������M	
����E��T�����5"!4"�;	
�
V����	
�,�D� ���#�(��<�� ���!=����:
���� �,������� �+���!(7��� ���*,���L#�$�
����"�;	
�� ���������� �C��������
�� � ���#�(��<�#�$��� ���5"!	#�
�
�����	��*W5
�������>���"!�������<����������� ��X���%���
����G	%�
�����
+ ��
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(b) Write a short note on ‘Public Interest Litigation’. Marks : 5

)����(97,���Y����Z@����5[�5�/��,��������0��12\�	
�������%��3���

OR/�����

Can a member of a Parliament raise a discussion as to the

conduct of  Judge of the Supreme Court or a High Court ?

Answer with reference to decided cases.

����S(��� T� � � ��5"!4"�
�� � �N���� � E�� T� � ��5"!4"�
�
��5"!6�K����%]�������=���"�������,������������("���������	��+@��������	
�
,�^#�+@#��$�_4�� � � ��	��;�"�� � ��
���57#�� � ���ZD
�\��� � Q� +���!(7��
��*,���L#�$��������E>���R���E��@���

UNIT – IV

Q. No. 4. (a) State the legislative relations between the union and the states.  Marks : 15

,��	
�*��������@����95#�$�����=��
����K�������J,�����	%	��#�$�������+ ��

OR/�����

Examine the power of the Parliament to amend the

constitution referring to decided cases.

��	
������������+
��`��8����!=��������	��+@�����6,�����������+���!(7��
��*,���L#�$�������"�;	
������������

(b) A municipality levies ‘Octroi duty’ on the entry goods into its

local areas. ‘X’ a trader challenges the validity of the imposition

of Octroi duty on the ground of violation of Article 301. Decide.  Marks : 5

��#�������\�	
��� ������� � �,�a���*� ���5U@\�$�#�� �b"�����#����� �����,��#�$�
����>���b,�I3������#�"�������
6��������‘X’ �G	%���5���"����b,�I3�
���#���
6�
��`�����	
����
�����������
���301�����8"���������?���������ZD��
E4�	F��"!?
���G	
������*���
�������7��(���



UNIT – V

Q. No. 5. (a) Discuss the provisions regarding different kinds of emergencies

under the Indian Constitution. Marks : 15

������
�����	
����
�����

�����%#�"����������(�����-+"���%#�&��V�����
E��%	��#�$���������'(��

OR/�����

Explain the extent of Government liability in Torts under the

Constitution. Refer decided cases.

��	
����
�� � �8"���� � ���,�c��5#� #�� � ��	%	6�
�	��� � ����,���
�
���<�#��,�"�������
�������+���!(7������*,���L#�$�������E>���R��

(b) ‘A’ was appointed on an official capacity to the higher post.

After two years of service he was reverted to his original
post on the ground of unsatisfactory  work. Is it valid ? Marks : 5

‘A’ G	%������,�����d,�����������%
����,�4����7��(Y��4���E����������
�̀"���
���
���>�?���@�����G��=�����H�(#�$�����	���������!����,�����,�4����7��(Y���+@4�
G	%��,���L#�$�������>�����������������S��(��eY	;���f�����
�̀#�������� 
,� ��>�3�������V
����
6%
�.����Q

OR/�����

Write a note on ‘Doctrine of Pleasure’.

))V���	�����
�.	��
���//�����>���0��12\�	
�������%��3���

________________
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First Semester Three Years LL.B./ Third Semester B.A.LL.B. Five Years
Course/Third Semester B.B.A.LL.B. Five Years Course

Examination, June/July 2012
INDIAN CONSTITUTIONAL LAW (Course – II)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer all Questions.
2. One essay type and one short note question or problem

from each Unit have to be attempted, which is referred as
part (a) and (b) in all the Units.

3. Figures to the right indicate marks.
4. Answers should be written either in English or Kannada

completely.

UNIT – I

Q. No. 1. (a) Discuss the legal position and significance of the preamble of
the constitution of India with decided cases. Marks : 15

�������		
����
������		�����		��
���		����������		�
���������	���		��������
 !"		�������		���#���$��		%��&		'�(� )

OR/�����

Article 14 permits classification but prohibits class legislation
– Discuss.

*���'�+,��	 	 14	 	��-�,��
�������.	 	/
�01�����)	 	2��
�	 	�����	 	 3����������.
�4�,5��������	6	'�(� )

(b) What is Doctrine of Eclipse ? Marks : 5

���#��		 ��7��������
�,���	8
OR/�����

Can the state impose restrictions on the Institutions Managed
by Minority ? Discuss.

�����9��		���������		�����!����		���,:�		
�;<		�%��������������.		#�,
�%#����,	8
'�(� )

P.T.O.
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UNIT – II

Q. No. 2. (a) Explain the relationship between fundamental rights and
directive principles of state policy in the light of Judicial
decisions. Marks : 15

��<=���			�����3�������		���.:���>?			����@�����		#����A��9���		�������		
�;<�,"
����3���		����$��9���		B
����		���%��������.		���� )

OR/�����

Examine the constitutional position of the Governor under Indian
Constitution.

��
���		����������C��>?			
�;<
�@
�		���������	��!����D�������.		
��,EF )

(b) Write a note on Uniform Civil Code. Marks : 5

�����"���		�����,��		������		%��&		/����		G
�1H		%
�=��)
OR/�����

Can the President of India become a dictator ? Discuss.

��
�����		
�4�I��<��F
��		/%J		�����K����D��%#����,		8		'�(� �)

UNIT – III

Q. No. 3. (a) How Independence of Judiciary is maintained under the Indian
constitution ? Discuss. Marks : 15

��
���	 	 ����������C��>?	 	 	 ��<�D�����	 	 ��$������������.	 	 #�,��
�������:�-��		8		'�(� )

OR/�����

Briefly examine the constitutional remedies for the enforcement
of fundamental rights under the constitution of India.

��
�",��		����������C��>?			����@�����		#����A�������.		L�����9��@�
B
����		���������		
��#�
�������0��0		M�%������.		���EF
����-		
��,EF )

(b) Is there any need for Judicial Commission ? Discuss. Marks : 5

��<�D���		2N�,����		*��3�<����		B��N�	8		'�(� )
OR/�����

Is Supreme Court bound by its own decisions ? Discuss.

����O�,'�P		��<�D@����0		����.��,		",
�0���9��		%��7��-��N�,		8		'�(� )
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UNIT – IV

Q. No. 4. (a) Briefly discuss the power of parliament to legislate upon a

subject in the state list. Marks : 15


�;<		
�GQ��>?
����		�4�������		���,:�		3�����		��DR�@�		�����"���		B
����

*5��
���		%��&			���EF
����-		'�(� )

OR/�����

Discuss the power of parliament to amend the constitution with

decided cases.

�������		
����
��������5��		��������		"���S
�C		��DR����		%��&			�����"���

B
����		*K��
������.		'�(� )

(b) State Government banned leases for Quarrying of black granite

to private persons and reserved for government corporation

under Mines Act. It is challenged that it violated freedom of

Trade.  Discuss the validity of the Act. Marks : 5

T���-		��<E������		�����>?��		��H�������		���"��������.		
�;<		�����
�

�4�,K ���		�������		��H		*K��������>?		B�����.		������		��������9��		��D���

��,��>R�:�=����)		��H;<		��$������U<		'��<"�D-��		M����		
��V.��:�=����)

*K��������		 ������$�����.		'�(� )

OR/�����

What is the constitutional  position in case of repugnancy

between central law and state law ?

��,����		�������		
�;<		������������		��R�����		
��"���@��		���������		��!��

W���	8
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UNIT – V

Q. No. 5. (a) What is meant by failure of constitutional Machinery in state ?

State its effects with decided cases. Marks : 15


�;<��>?��		����������X��		*��Y�@��		*���
�,���		8		*��
�		
��Z�����������.
�������		
����
��������5��		���� �)

OR/�����

Discuss the liability of the state for the torts committed by its

servants.

��
����		��,�������		M��-��		*
���[��<��A-		��
���
���		#��Z�����������.		'�(� �)

(b) Whether Compulsory retirement amount to removal from service ?

Discuss. Marks : 5

��R�\��		���["����		��,��=����		�������#��������D��������,N�	8		'�(� �)

OR/�����

‘X’ secured Job by false certificate and he was dismissed from
service. Is he protected by Article 311 of constitution ?

M�]^		M�%������	������_		
����D�		
���������.		�,C		̀ ���<,��		
�R������)		�������
*�������.	 	��,��=����	 	��L����9��:�=����)	*�����	 	��������	 	
��'�+,��
311
�		*C��>?			���
���FZ�		#�����%#����,		8

________________
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First Semester of 3 Year  LL.B./Third Semester of 5 Years B.A. LL.B. /
B.B.A. LL.B. Examination, June/July  2014

Course – II : INDIAN CONSTITUTIONAL LAW

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer all Questions.

2. Figures to the right indicate marks.

3. Answers should be written either in English or Kannada

completely.

UNIT – I

Q. No. 1. (a) Explain the objectives enshrined in the Preamble. Can the

Preamble be amended ? Marks : 15

��������	�
 
�����
��������
 
�������������
 
�	�������������
 
��� ! "

�����
����������

#	�����$

��%��&'��	��

(

OR/�����

Analyse the definition of the term ‘state’ as provided in Art.12

of the constitution.

��������	�

����)�*�	�
 12
����

'����+�	�

,��-./

��	�	�

�� 0�1�������

�����2! "

(b) Write a note on ‘Doctrine of Eclipse’. Marks : 5

“���'�3

!	�4�5�
”	�

&��6

7��89������

&��:� "

OR/�����

P.T.O.
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‘A’ an accused in a criminal case is asked by the court to

produce a document in his possession, which is in his

handwriting, for the purpose of comparison of his handwriting.

‘A’ refuses to produce the same on the ground that he can not

be compelled to be a witness against himself. Advise him.

;�	��

<�����+=

�������3	���

>��?�@5���������

,�/

���

�����

��AB���	��������

'���?

�����	��

'���
��C��	��������

;�	��

	���
���-����

'���
�� C��
 
 '�?����
 
 ��%��D�
 
 ��.�%D����E
 
 '�-�����$��D�

�����D87F	����"

5����

����	�4���

5�����

��<C

��?��D�

;5�
:���D�

&�����GHD�

I�&

��	�������

�����	�

��%$

������

	���
���-����

'�-�����$��D�

J���� ���5�
��"

���J��

��D'�

J�$ "

UNIT – II

Q. No. 2. (a) Explain the powers of the President of India. Marks : 15

0���5�	�

��1�K��#����

�B������������

��� ! "

OR/�����

Examine the relation between Fundamental Rights and

Directive Principles of State Policy.

���?D0�?5�

'����E�����

'���?

��-.

J	�L�����M5�5�A����

���&���������

�� �<C! "

(b) Write a note on ‘Fundamental Duties’. Marks : 5

,���?D0�?5�


��5�L��.�����/

N	���

&��6

;�	��

7��89

&��:� "

OR/�����

What are the characteristics of a ‘Parliamentary form of

Government’ ?

,�����H���

��%	� ��

��������	�
/

D��C3�����

�%��G��G

(
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UNIT – III

Q. No. 3. (a) Explain the original and appellate jurisdiction of the Supreme

Court. Marks : 15

����O�L)�*

��.�%D��	�

���?D

'���?

�@�D�

�B����

��.@
������

��� ! "

OR/�����

Critically evaluate the procedure for appointment of the Chief

Justice of Supreme Court.

����O�L)�*
 
 ��.�%D��	�
 
 ����P.
 
 ��.�%B�����
 
 ��������#��
���<�Q�������

������L5�R�����

�� �<C! "

(b) What are the grounds for the issue of writ of mandamus ? Marks : 5

��%.�������=

 SF����

�%��

>��������

����+�

J���+������G	��

(

OR/�����

Write a note on ‘Judicial Restraint’.

,��.�%���	�


J&L���
/����

����+�

;�	��

7��89

&��:� "

UNIT – IV

Q. No. 4. (a) Discuss the ‘legislative relations’ between the center and
states. Marks : 15

����	��

'���?

��-.����

��������

,������5�R��

���&�����������/

)�TL! "

OR/�����

“Power of the Parliament to amend the Constitution  is  not
unlimited ”.  Explain.

“�����#
������

��������

#	�����$��

�B����

�J����5���	��	�D” �"
��� ! "

(b) Wrtite a note on ‘Federalism’. Marks : 5

“;��?ES

5�5�A

U��������


5�5�AV

	�
” &��6

7��89

&��:� "

OR/�����



‘A’ grows tea and transport it to Kolkata via Assam. Assam
state legislature has passed a law imposing taxes on
goods carried by road and Inland waterways. Is A  liable to
pay tax ?
,�/
 
���
 
)�'�
 
W���	��
 
���X�
 
��-.	�
 
���?D��
 
 ��?�DE5�
��
 
 ����Y�
��%���5�
��"

���X�

��-.	�

������

��0����

>

��-.	���

����
��

���?D��
�Z���

��-.	�����

-D��%��L	�
 
���?D��
 
�����D8�����
 
�����������
����+�

����

�B�����

;�	��

����?������

��T!	�"

,�/

���

����

��?��D�
'�?Y��������

(

UNIT – V

Q. No. 5. (a) What is national emergency ? What are the consequences
of its proclamation ? Marks : 15
��2K���

5��5��L

�� ![#

I�	�������

(

N	�����
 
\?�2�����G	� �	�
>�����

�� Y���������

�%��G��G

(

OR/�����

Discuss the contractual liability of the Government under
Art. 299(1) of the Constitution.
��������	�


����)�*�	�

299(1)

��

�$����
]

�������������

��������	�
'�?Y��� ��������

)�TL! "

(b) ‘K’ a government servant was appointed to officiate on a
higher post. After one year, he was reverted to his original
post on the ground of unsatisfactory work. ‘K’ challenges
this under Art. 311 of the constitution. Decide. Marks : 5
,��
/
I������

������ �

�^�������

;�	��

����5�

'��	����

����.

J��L'������	��
����������?�$	�����"

;�	��

��1�L	�

���5���

���������

�5�_@
����

�������
����3��?E���E��

��G��̀ 

��?	����

��[����E

�����a��+�:�5��"

b

������������
,��
/

���

��������	�

����)�*�	�

311
��

�$����

���c����5�
��"

J3L:�! "

OR/�����

The  driver of a military truck while carrying a hockey team
of jawans caused  an accident to ‘X’a pedestrian, ‘X’ died by
the said accident. ‘Y’ the wife of deceased ‘X’ sued the central
govenment for compensation. Will she succeed ?
;�	��

���S 

S��=��

)�D�����

-������

U��dJ����V

'�<

7��������
����	����?����

'�?��������

‘
��C
’
I�&

	� '�?���J��

���e�5�

��%$	����"
‘
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’���
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���e�5�	���

J����

'�?�H	����"

‘��C
’
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�����H�%	�

‘��’
���

����	��

��������	�

����	�4

��1�F

�� '�����E�

	���������

'�?���5�
��"
������

-������%��������

(
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